
17

2

4

3

6

8

1

12147 135

18

1619 17

1110 9

16 1517

14 1913

1916

ITEM NO. QTY. PART NO. DESCRIPTION
1 1 S1012-008 Folding Workcage Frame Weldment
2 4 S1012-104 Folding Workcage Guairdrail
3 2 S1012-007 Folding Workcage Floor Assembly
4 2 S1012-013 Folding Workcage End Gate
5 4 S1012-130 Folding Workcage Delrin Pulley
6 4 S1012-131 Folding Workcage Wire Rope Assembly
7 8 S1012-132 Folding Workcage Spacer
8 1 S1012-004 FW Hoist Support Weldment
9 4 110254 Bolt, 1/2"x3-1/2

10 4 110451 Washer, 1/2 Flat
11 4 110352 Nut, Lock 1/2"
12 4 110234 Bolt, 3/8"x4"
13 4 110332 Nut, Lock 3/8
14 4 110441 Washer, 3/8 Flat
15 4 110281 Bolt, 3/4"x2"
16 16 110481 Washer, Flat 3/4
17 16 110382 Nut, Lock 3/4"
18 4 110110 Hitch Pin 3/4" X 4.5"
19 12 110284 Bolt, 3/4"x4"

41.15
1045.28

24.00
609.60 27.15

689.59

63.75
1619.25

24.00
609.60

64.16
1629.66

Folding Workcage

REPRODUCTION IN PART OR WHOLE WITHOUT THE 

BY

APPROVED

DIMENSIONS IN 

TOLERANCES IN INCHES

>
6

6
120

120

IS STRICTLY PROHIBITED.

WEIGHT

CAD GENERATED DRAWING.

 .005

WRITTEN PERMISSION OF BEE ACCESS PRODUCTS

DO NOT MANUALLY UPDATE.

[ ] ARE IN MM

UNLESS OTHERWISE STATED

<
0,5

30
30

400
400

0.1 0.2 0.3 0.5 0.8

 .5

RAW MATERIAL PART NUMBER

XXX 

THE INFORMATION CONTAINED IN THIS DRAWING IS 

2 Released for prototype

DRAWN

MATERIAL

3

D

C

B

A

45

A

B

67

C

D

8

8

SCALE SIZE

7 6

PART NO.

5

B/A3

4

SHEET

3

REV.

DATE

DATE: MM-DD-YY

BYREV

S1012-002

APPROVALS

1

N/A

PRODUCT LINE/PROJECT:

TOLERANCES IN MM

LBS138.3

2

1:24

REVISION DESCRIPTION

BJA

Folding Workcage Assembly

01-17-10

. XX-XX-XX

ASSEMBLY

THE SOLE PROPERTY OF BEE ACCESS PRODUCTS. ANY 

 .015

DEBUR AND BREAK SHARP EDGES

MACHINED SURFACES
ISO 1302

FRACTIONS   DECIMALS   ANGLES

TREATMENT

12.5

TOL.

S1012-002 Rev 2

1 OF 1

TOL. ISO 2768-m

BJA 01-17-10

DO NOT SCALE DRAWING.

ASSEMBLY

2X  .060
XX ALL 

UNLESS OTHERWISE STATED

2


